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a) sina = 12
13
b) cosa = li g
(63
) tana = — 13
BORESBLTRDINE sinf, cosh, tanh TRE.
A
a) sin(180° — ) = sin 0 /1\
b) cos(180° — ) = —cos @
¢) tan(180°—6) = —tan6 — —0 0 e
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sin 6 0 ! 2| L 1 S| L2 1 0
cos 6 1 ? % % 0 —% —% —% —1
tan 6 0 é 1 NE) fjf\ -3 —1 —@ 0
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BROEREEZNZ, A(0,0), B(c,0), C(bcos A, b sin A) %
E3D. 2R B, CRADERMD2EZ_RBDICRKIZEICK
NRUER a® = b + ¢? — 2bc cos A HEFRE L. a
¥9, BC2 =42 THD. —F, 22 (x1. 1), (x2.y2) DBED A . B

iskiigle \/(xz —x1)2 4+ (y2 —y1)?2 I2h5,

BC? = (hcos A — o)+ (bsin A — 0)2
= b% cos? A —2bccos A + ¢2 + b?sin® A
= b?(cos® A + sin® A) — 2bc cos A + ¢
= b% —2bccos A + ¢?

ULIeh' DT, a? = b2 —2bccos A + ¢2 BRIV TID.
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GBOEDES(C, MAERTI=2 s A, BREDBH A RHDI=H,
PA, PB, Z/APB &ZfI>1-& T3,

PA= 150m, PB= 90m, ZAPB= 120° A

Tdholc. A, BREDBEAZRDLK.

AAPB (CRZERZER LT,

AB? = PA? + PA% — 2PA - PBcos P
= 150% + 90% — 2 x 150 x cos 120°
= 44100

#-5T, AB = /44100 = 210(m).
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b,
/ZBAC = 105°,

ZABC = 30°,
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a) A, CEABXU A, DEDEHE [ b: AABC [CEXEE

ZBAD = 45°,
ZABD = 90°

%ALD. AABD (BB -ZD=AK] 105°

AABC CEREEAERNDE, o0 -

sin 30° sin45°"
AABD FBEBZSHI=AFILHD AD = V2AB =22 (km)

WZI(C AC = /2 (km)

b) C, DREDER (£ ACAD [CRUERZAUD. ]

ACAD [CHRZTEEBZANDE,
CD? = AC? + AD? — 2AC - AD cos 60°
2 2 1
= (fz) +(2f2) —2x V2% 22 % S =24+8-4=6

&£o>T, CD = V6.
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b4 b4 2w 5w
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9] BORESBLTRDINZ sinh, cosh, tanh THRE. v !
a) sin(—6#) = —sinf
b) cos(—0) = cos 0
m+0
0
¢) tan(—6) = —tané 1 fO 0 1 v
d) sin(w + 60) = —sinf
e) cos(mw + 0) = —cosb \\1
f) tan(w + 0) = tan @
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a) blnT = —T b) COS(—T) = T C) tan(—T) = f

RDBRBNZHIZTA 0 Z2RDEK. 12120, 020 <2n £TD.
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a) sin9=§ b) v2cosh = 1
_ 7 2n _m I
=33 =7
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a) sin2x = cosx

BORZZRUTC=ARUDINEER I L),
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AOPQ [CRFGLERZEA LT, PQ? % cos(a — B) & P
BOWTxRE. Q
a—p3
PQ? =12 + 12 —2cos(a — B) = 2 — 2 cos(ax — B) DTG "
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P, Q DEENZFNZI P(cosa,sina), Q(cosp,sinfB) THDEEE DT, PQ? % cosa, cospf,

sina, sinfB ZANTEYE.

PQ? = (cos B — cosa)? — (sin g — sina)?
= cos? B —2cos B cosa + cos® o + sin® B — 2sin B sina + sin?
= (sin? B+ cos? B) —2(cosw cos B + sina sin B) + (sim2 o + cos? )

=2 —2(cosacos f + sinw sin f)

a) & b) DIERZHHOBE T, cos(a — B) DINEERZRE.

a), b) &, PQ? =2 —2cos(e — B) = 2 —2(cosa cos B + sina sin B).
KD, cos(w —B) = cosacos B + sinasin B Z18D.

BIFRTL sin 0 = cos(% - 9) ERVT, sin(a + f) DINEEBRERYE.
[e> b tcos(F — (@ + B)) = cos((5 —a)—f)).]

sin(a + B) = cos(% —(a + ﬂ)) = COS((% —a)— ,3))

= COS(% —a)cos B + sin(% —a)sinp

=sina cos B + cosa sin f
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b) cos2x +3cosx—1=0

sin2x = cosx cos2x +3cosx —1=0

£ Sin X Cos X = COoS X &2c0s2x —1+3cosx—1=0

&(2sinx —1)cosx =0 &2cos?x +3cosx —2=0

Gsiny = 3 FI2@ cosx =0 &(2cosx —1)(cosx +2) =0
ox= T 5t m 3m <:>cosx=% Frex -2
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ax= L ST
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